Veamos otros ejemplos:

-
EFECTO ELEGIDO =1
VALOR DE LA MESA =5

ATAQUE =5+ 15-2 =18




EFECTO ELEGIDO = 2
VALOR DE LA MESA = 10

ATAQUE =10 + 18 - 12 = 16




L 2

EFECTO ELEGIDO =1
VALOR DE LA MESA =5

ATAQUE =5+ 20-10 =15




EFECTO ELEGIDO = 4

VALOR DE LA MESA = 15
ATAQUE =15 + 10- 12 =13

>




EFECTO ELEGIDO = 2
VALOR DE LA MESA = 10

ATAQUE=10+10-15=5

>




EFECTO ELEGIDO = 4
VALOR DE LA MESA = 15

ATAQUE=15+10-18=7

L 4




EFECTO ELEGIDO =1
VALOR DE LA MESA =5

ATAQUE=5+10-2=13

L 4




EFECTO ELEGIDO =1
VALOR DE LA MESA =5

ATAQUE=5+13-7=11

>

Evidentémente

este pu<|f.1to hay

/' que intuirlo




EFECTO ELEGIDO = 2
VALOR DE LA MESA = 10

ATAQUE =10+ 17-1=26




EFECTO ELEGIDO = 2
VALOR DE LA MESA = 10

ATAQUE=10+10-8 =12




EFECTO ELEGIDO = 4
VALOR DE LA MESA = 15

ATAQUE =15+ 18-7 = 26




EFECTO ELEGIDO = 4
VALOR DE LA MESA = 15

ATAQUE =15+ 20-5= 30




